
2X
2X

1

2

2X
4

L-BRACKET KIT EXPLODED VIEW

4X

3(REQUIRES COUNTERSUNK
HOLES ON FRONT PANEL)

CENTER L-BRACKET
FOR 6U OR 9U PANELS

L-BRACKET KIT ASSEMBLED VIEW

ITEM NO DESCRIPTION PART NO
QTY REQ'D FOR P/N

U/M
HD102 CM05 CM05/100

1   CENTER L-BRACKET, NYLON, BLACK 94300001 2 2 100 EACH
2   SCREW, FLAT HEAD, M2.5-0.45X8mm 95000003 2 - - EACH
3   SCREW, PAN HEAD, M2.5-0.45X10mm 88000106 2 2 100 EACH
4   HEX NUT, M2.5X0.45-6H 95000006 4 4 200 EACH
5   WASHER, SPLIT LOCK, #3 W3-1# - 2 100 EACH

HD102, CM05 AND CM05/100 PARTS LIST

CENTER L-BRACKET DETAIL

M2.5 HEX NUT (ITEM #4)
PLACEMENT OPENING

1

 0.372 

 2X 0.095 

 0.281 

 0.030 

A

A

ZONE REV DESCRIPTION

REVISIONS

   www.vectorelect.com

NAME

SIZE

D
DWG.  NO. REV

CAGE CODE : 82893SCALE: 8:1

UNLESS OTHERWISE SPECIFIED:

L-BRACKET KIT

   NORTH HOLLYWOOD,

& TECHNOLOGY, INC IS PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

THIRD ANGLE PROJECTION

MATERIAL

FINISH

DRAWN

CHECKED

ENG APPR.

MFG APPR.

Q.A.

C

B

A A

B

C

D

   11115 VANOWEN ST.,

VECTOR ELECTRONICS & TECHNOLOGY, INC.  ANY REPRODUCTION IN PART

   CA  91605

OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF VECTOR ELECTRONICS

PLASTIC

SHEET 1 OF 1

D
HD

10
2

RE
V

F

E

F

E

12345678

8 7 6 5 4 3

COMMENTS:

1

DATE APPROVED

D

DATE

A

2

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF

TRUSHAR

A

A

ALL 03/14/16

03/14/16

INITIAL RELEASE

DIMENSIONS ARE IN INCHES
TOLERANCES:
DEC  X.X           0.1
DEC  X.XX         0.03
DEC  X.XXX       0.010
FRACTIONS       0.050
ANGLES             1

HD102-CM05

CL

 0.100 THRU 

 0.645 

 0.340 

 0.178 

SECTION A-A

 0.150 

 0.290  0.178 

 0.372 

 0.240 

 

 0.468 

0.100 THRU 

 0.315 



X-ON Electronics
 
Largest Supplier of Electrical and Electronic Components
 
Click to view similar products for Racks & Rack Cabinet Accessories category:
 
Click to view products by  Vector manufacturer:  
 
Other Similar products are found below :  

M00-PLN  F2424  8351-832-A-24  9104  9105  PLFF2000  H-9163-B  1427C3  HTS10  PC-79  SC10-3A  SC4-28  CG3-340S/12  CP-001BK 

M6123-4007-SS  TS170  LP40  5261304-07  CG3-160G  7112C-PLN ALUM  CM10  8610-3124-S-26  TS81  7142  GP134  M6125-4007-A-24 

M6127-4007-SS  PBCOVER  512  AEG-4000G  AEG-3000G  HD99  SR2-66A2  FP10B4HP-1  SR16-66A2  FP52-2  1406-1006-01  29478 

TS2535  TS169-6  CAC2  HA19-3U  BR-19-10-1  TS180  CG3-ESD  SC11-1  CFS-1.00/2.20  AX6145WM  HEC0800PB  ZC633R  

https://www.x-on.com.au/category/enclosures/racks-cabinets/racks-rack-cabinet-accessories
https://www.x-on.com.au/manufacturer/vector
https://www.x-on.com.au/mpn/lmbheeger/m00pln
https://www.x-on.com.au/mpn/hammond/f2424
https://www.x-on.com.au/mpn/rafelectronichardware/8351832a24
https://www.x-on.com.au/mpn/bourns/9104
https://www.x-on.com.au/mpn/microlamps/9105
https://www.x-on.com.au/mpn/hammond/plff2000
https://www.x-on.com.au/mpn/budindustries/h9163b
https://www.x-on.com.au/mpn/hammond/1427c3
https://www.x-on.com.au/mpn/hammond/hts10
https://www.x-on.com.au/mpn/panduit/pc79
https://www.x-on.com.au/mpn/vector/sc103a
https://www.x-on.com.au/mpn/vector/sc428
https://www.x-on.com.au/mpn/vector/cg3340s12
https://www.x-on.com.au/mpn/hammond/cp001bk
https://www.x-on.com.au/mpn/rafelectronichardware/m61234007ss
https://www.x-on.com.au/mpn/vector/ts170
https://www.x-on.com.au/mpn/belden/lp40
https://www.x-on.com.au/mpn/vector/526130407
https://www.x-on.com.au/mpn/vector/cg3160g
https://www.x-on.com.au/mpn/lmbheeger/7112cplnalum
https://www.x-on.com.au/mpn/vector/cm10
https://www.x-on.com.au/mpn/rafelectronichardware/86103124s26
https://www.x-on.com.au/mpn/vector/ts81
https://www.x-on.com.au/mpn/bourns/7142
https://www.x-on.com.au/mpn/hammond/gp134
https://www.x-on.com.au/mpn/rafelectronichardware/m61254007a24
https://www.x-on.com.au/mpn/rafelectronichardware/m61274007ss
https://www.x-on.com.au/mpn/hammond/pbcover
https://www.x-on.com.au/mpn/kilo/512
https://www.x-on.com.au/mpn/altech/aeg4000g
https://www.x-on.com.au/mpn/altech/aeg3000g
https://www.x-on.com.au/mpn/vector/hd99
https://www.x-on.com.au/mpn/vector/sr266a2
https://www.x-on.com.au/mpn/vector/fp10b4hp1
https://www.x-on.com.au/mpn/vector/sr1666a2
https://www.x-on.com.au/mpn/vector/fp522
https://www.x-on.com.au/mpn/vector/1406100601
https://www.x-on.com.au/mpn/vicor/29478
https://www.x-on.com.au/mpn/vector/ts2535
https://www.x-on.com.au/mpn/vector/ts1696
https://www.x-on.com.au/mpn/vector/cac2
https://www.x-on.com.au/mpn/vector/ha193u
https://www.x-on.com.au/mpn/vector/br19101
https://www.x-on.com.au/mpn/vector/ts180
https://www.x-on.com.au/mpn/vector/cg3esd
https://www.x-on.com.au/mpn/belden/sc111
https://www.x-on.com.au/mpn/3m/cfs100220
https://www.x-on.com.au/mpn/axiomtek/ax6145wm
https://www.x-on.com.au/mpn/delta/hec0800pb
https://www.x-on.com.au/mpn/panduit/zc633r

